BEAD GEXEF - BTTH5)

LfTE4LR A
;1) X % # F K A ! % %

B 7 & o X 6,965 13,322 6,996 6,326

X B # K 1,202 2,782 1,378 1,404

£ P # K 552 1,357 681 676

N RO K 1,013 2,547 1,278 1,269

Bl 4% i K 7,214 14,750 7,188 7,562

N | R # K 1,330 3,066 1,501 1,565

it XX M # K 1,042 2,370 1,180 1,190

it &8 & b K 7,966 18,127 8,633 9,494

B » B # X 6,639 16,120 8,06 | 8,059

& 5 33,923 74,44 | 36,896 37,545
LfT7FE4A B

w K A& BT T % # #H A ! 5 54

B 7 WX BE 7 1B T A 4,642 9,21 | 4,646 4,565
¥ F 208 360 202 158

® B E 433 823 424 399

£ L L H 778 1,350 854 496

g R H 315 529 285 244

53 ip) 589 1,049 585 464

#H K3 6,965 13,322 6,996 6,326

A E 1 K £ B H 89 202 102 100
K & H 819 1,910 931 979

= K | 44 326 166 160

+ K 1% #7 6T 150 344 179 165

#H K3 1,202 2,782 1,378 1,404

k P # K ® B H 139 338 177 16|
& fF 16 36 15 21

£ @\ H 128 397 188 209

& & H a6 207 96 1]

R H 109 236 133 103

KX 3§ H 64 143 72 71

#H K3 552 1,357 68| 676

N RO X N H 175 389 196 193
nOR 151 389 191 198

7 PR HT 31 77 34 43

B R ¥ g 486 1,289 660 629

& A& 63 162 75 87

Z ij) 107 24| 122 119

#H K3 1,013 2,547 1,278 1,269
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BEAD GEXEF - BTTH5)

LfTELR B
X £ B T 4 it FEH A = L 8
Bl &£ # X | B & H 645 1,468 712 756
P9 & %7 @ BT | 2 2 0
A 1 HT 175 413 199 214
B R B 732 1,59 | 770 821
& & 1,016 2,179 1,027 1,152
Bl &£ 103 398 156 242
= & 1,964 3,895 1,919 1,976
B | TH 242 42| 214 207
8 2 TEH 450 873 439 434
8 3 TH 506 811 408 403
8 4 TBH 768 1,373 697 676
Mt W 23 13 10
NGB OFE A HT 438 906 445 46|
JE £ 787 %7 @ T 15 36 15 21
LT i 148 36| 172 | 89
#H X 7,214 14,750 7,188 7,562
N R R X R AR E 1,330 3,066 1,50 1,565
#H X3 1,330 3,066 1,50 1,565
b X R X & ¢ H 73 215 115 100
& 7 #7 @ T 66 152 75 77
‘A BE YR E] 110 248 1 20 128
g @\ 60 |39 74 65
it /H  H 74 186 ql g5
N OB 31 81 43 38
& ‘A 66 171 86 85
X B 5 15 7 8
BAaa | TH ql 186 101 85
BAaE2TH q7 201 92 109
B a3 TH 100 195 a5 100
mHoE4TH 133 298 141 157
BAaNE5TH 53 | 14 55 59
BN E6TH 83 169 85 84
#H X 1,042 2,370 1,180 1,190
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BEAD GEXEF - BTTH5)

RFTELA B
w KX & BT T & # % A ] C:] %
t®EE®E | LI TH 185 398 193 205
EWL2TEH 200 449 212 237
EWw 3 TEH 176 399 207 192
Bl 4 TEH 326 806 348 458
EWL5TEH 275 595 276 319
EWL 6 TEH 286 667 332 335
EWL7TEH 240 574 284 290
EWL 8 TEH 277 597 295 302
WE I TB 445 906 44 492
WE2TBH 130 323 158 165
¥ 3ITBAE 231 511 266 245
WE 4 TBHE |59 357 | 64 193
WwW¥ES5TBH 24| 540 259 281
WwW¥E 6 TBH 270 602 278 324
NI T B 27 59 29 30
N2 T H 360 896 445 45 |
N3 TEH | 84 407 213 194
NS 4 T B 57| I, 147 506 641
F&e& | TH 206 465 221 244
F&a&2TEH 244 575 272 303
& 3TEH 143 318 167 151
e 4TH 272 666 319 347
T &5TEH 189 429 182 247
BRE I TH 191 479 234 245
BHRE2TH 212 563 272 29|
TRE3ITHE 68 183 86 q7
wHRE4TH 207 444 204 240
TRESTH 286 735 347 388
Afx& | TH 165 414 204 210
A& 2TH 167 398 198 200
A& 3TH 363 796 387 409
Afr& 4 TH 670 1,429 66 | 768
# X E 7,966 18,127 8,633 9,494
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BEAD GBXF - BTT )

RFTELA B
H K % B T 4 # FH | A = L 8
Ry MK | gEyrl TH 177 7 523 254
Bk BE2TH | 74 423 214 209
By A3 TH 211 467 239 228
Bk B4 TH 28| 742 351 391
o ES5TH 344 805 375 430
By 6TH 332 934 464 470
Bk BT TEH 43| l,110 567 543
W/ AW TH 292 709 325 384
W/ N2TEHE 242 577 285 292
W/ W3TH 386 980 47| 509
W/ W4TH 310 788 375 413
W/ W5TH 286 737 366 371
wr e TH 553 1,139 563 576
WworBE2TH 482 1,000 493 507
WwWor B3 T8 365 1,007 503 504
Wwor B 4TE 366 627 311 316
BRI TEH 278 707 358 349
B¥27TEH 459 1,030 532 498
B3R 3TA8 310 757 384 373
B¥ 4 TEH 342 635 308 327
v B | TH | 128 35 q3
v B 3 T8 |7 41 19 22
# K F 6,639 16,120 8,06 8,059
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